
Inverse Operations •I 
Name ____ _ 

Make a subtractbn sentence from each addition sentence and solve. Don't forget to change 
the sign! 

3+Y=7 6+3=9 3+6=9 

I 7-Y=3 1 I I 

3+14=17 15+3=18 4+3=7 

I I 

6 + 4 = 10 4+14=18 3+0=3· 

I I I I I I 
14 + 0 = 14 0+6=6 4 + 6 = 10 

I I I 

Inverse Operations •2 
Name ____ _ 

Make an addition sentence From each subtraction senterce and solve. Don't Forget t o change 
the sign! 

6-4=2 15-3=12 14-4=10 

14+2=6 1 

4-0 = 4 15 - 6 = 9 6 -3 = 3 

[ 

15-4=11 6 -0 = 6 14 - 0 = 14 

14 -6 = 8 15-0=15 14-3=11 

I_ I I I 
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